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7 1f the type of feedback controller has been selected, we still have the problem of
deciding what values to use for its adjusted parameters. This is known as the
controller twning problem. Please describe the threc general approaches that we
can use for tuning a controller.

=

X Consider the control system of Fig. 1, which has been “opened” by disconnecting

the controller from the final control ¢lement. Introduce a step change of
magnitude A in the variable ¢ which actuates the final control element. Record the
value of the output with respeet to time. The curve y,_(¢) is called the process
reaction eurve. Between y_ and ¢ we have the following transfer function:

Gn“" ':-"F] = f;{\.l:l =3 Uf{fjﬁp(-‘wm{j']
cis)

If we assume:
. 5 KT
L.“h_t_l;}=£. -:!1_
cls) o+l

Please use the Cohen-Coon method to decide these three parameters: static gain
K, dead time f,, and time constant T .
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Fig. | Opened control loop
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Consider the feedback control system of the following diagram as shown in Fig. 2.
We have:
: 1
& = o e G =1 G =K/(14 )

= — y
Fos? 42542 T8

Please use Routh-Hurwitz Criterion to determine the relationship of the K andr,

if the system is stable.

Flad

Fig. 2 Block diagram of the closed-loop system
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